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Alfie says,
‘When you multiply two numbers together, the answer
is always greater than either of the numbers you
started with."

Is Alfie correct?
Circle Yes or No.

Yes / No

Explain how you know.
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Here is a doubling sequence.

Write the three missing numbers.
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Write the missing number to make this calculation correct.

1 x

1M1
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Amir says,

‘All numbers that end in a 4 are multiples of 4°.

Is he correct?

Circle Yes or No. Yes / No

Explain how you know.
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Here are five digit cards.

Use all five digit cards to make this correct.




image1.png
In this tower, two numbers are multiplied to give the number above.

12

Write the missing numbers in the tower below to make it correct.
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A toy shop orders 11 boxes of marbles.
Each box contains 6 bags of marbles.

Each bag contains 45 marbles.
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Show

your
method

marbles
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Circle two numbers that multiply together to equal 1 million.

200 2,000 5,000 50,000
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Write the two missing digits to make this long multiplication correct.

4
x 6
2 4 6
8 2 0
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Here is a number pyramid.
The number in a box is the product of the two numbers below it.

Write the missing numbers.

22.5





